2025 F EE=FHIE+HEEM

WV n 4ERREUE ], u, v e VL E:

(a) [[u+v[*+ [[u—v|?*=2[ul* +2[v|>

(b) WR [ful| = [Iv]l, W (u+v) L (u—v).

(c) (ulv) = llu+v|?—= fflu—v|

(d) [lu=v|?=[ul®+ v = 2[[ufl[[v] cos 8, (0 y u,v KIFA).

LBV =Rz WT fla) = X0 aint, g(x) = 377 bja?, IE

=33
it 1

WEH: () 2 V EM—AA, 3R Gram HFE G(1, 2, ..., 2").

WV RSEARTNE, x,y € VR x Ly 4 HACHE R REL ¢,

%+ tyl| = [1x]|

LWV g n RS vy, v, s VO UER: fRAE VO — A
IExCH: e, ... e, Ml n Br E=MHFE T 15

(1,...,€,) = (V1,...,vp)T.

(#&7~: FIH Gram-Schmidt 1EAZ4L)



